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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
o 10,152
307 gl2tol & 11,440 16,270 24,830
=S 1,288
s 10,152
02 QB AANSEER 11,440 16,270 24,830
OdzH=us 24 6,440,000 6,440
< 1,288
Ea 5,182
OdgNsuY P85 1Y
5,000,000& 12 5,000
UHh MEFH SIS HXI(ESXIR) 269,389 255,937 13,452
Jl 94,371
s 175,018
307 21201 & 269,389 255,937 13,452
Jl 94,371
[Ea 175,018
02 LB HANHEE 269,389 255,937 13,452
Oggr Mty iR X
187,758,000 187,758
Il 93,879
= 93,879
Oogpt MBS ANEEs 282
64,0003 +62 984
Il 42
s 492
Ogr Mt IR JIE=E K&
80,647,000 80,647
H2d MEHSXESI BIXI (B SKIR) 303,812 298,446 5,366
Jl 110,099
Ea 193,713
307 gl2to| & 303,812 298,446 5,366
Jl 110,099
s 193,713
02 QB AANEER 303,812 298,446 5,366
Ooozd MENFX=A Xl X
219,051,000 219,051
7l 109,525
= 109,526
Ooozdl HEMSA=A AN-es 288
64,0002 7 1,148
) 574
o 574
OnZ4l MEMSX A BHXI JIE==E X
el 83,613,000 83,613
ZOHQI M S XIS XL BHXI(2124H]) 129,295 121,169 8,126




FA 2BHSL
¥ NSEsS 2 AL (2L 22/H=)
el dMsgs K EEED
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 46,953
s 82,342
307 lztol & 129,295 121,169 8,126
Jl 46,953
= 82,342
02 2IZHBYAIHE X 129,295 121,169 8,126
Ol HEHFA=A BiXl XIS
93,906,000 93,906
Jl 46,953
2 46,953
OZONO! MEHSTTK X JIEFSE X
el 35,389,000 35,389
ol dEH= XA 7,318 37,318 230,000
= 2,350
[Ea 4,968
307 elzto| & 7,318 37,318 30,000
S 2,350
o 4,968
02 QB EANEEX 7,318 7,318 0
OZ0ie! M==0tel X (XIXZ0HR!)
7,318,000 7,318
[ 2,350
Ea 4,968
AZRAMO0ISHE X 144,000 163,686 29,686
Jl 100,800
< 12,960
[Ea 30,240
301 2eEN= 144,000 163,686 A9,686
Jl 100,800
=S 12,960
s 30,240
01 Al EE AL S(FREXH) 144,000 163,686 29,686
OAE=2AH0ISH XIE
144,000,000 144,000
7l 100,800
S 12,960
o 30,240
o AxXAH0|IEH XS 44,880 27,360 17,520
7l 31,416
= 4,039
o 9,425
301 EetE NS 44,880 27,360 17,520
Il 31,416
= 4,039




2A:

5 Hafe U AdB(SHLBE/US)
ool d=sgs X (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 9.42
01 ABIEEE 4613 (20E X M) 44,880 27,360 17,520
OOl AZEZATO0IE X2
44.,880,0002! 44,880
5] 31,416
< 4,039
2 9,425
d= o9 MS0E 9 1,841,000 2,146,000 305,000
307 0I2H01& 1,841,000 2,146,000 305,000
TN =E S 1,841,000 256,000 1,585,000
OFR GET WA
420,000,002 420,000
O®= DSsDm =Y
200,000, 0002 290,000
O®=2 N2 210,000,0002! 210,000
ORZSH USROS
200,000, 0008 200,000
ORBLERA LA LY HAZHS
190,000, 0002 190,000
Oy 2z2d NIRIEHS
120,000, 0002 120,000
OFYS0] W22 AIZHS
100,000, 0002 100,000
OX= SNSsD ZEH
30,000, 0002 30,000
OF=Z (f3t A3 30,000, 0002 20,000
OFZ MY AEH3 30,000,002 30,000
OFLUR4H HHAZE0S
30,000,002 30,000
O T MHEIIEHS
30,000, 0002 30,000
OmeII AR 20,000, 0002 20,000
OFURAH BLRE ST
14,000, 0008 14,000
O3 Z ) HHERIECHS!
14,000, 0002 14,000
OFY sh2HH S50 EHILIAHS
15,000, 0002 15,000
O=7 @S RAXL
60,000,0002! 60,000
OHRE ®TEE AXE
15,000, 0002 15,000
ONE ®TE2L XX
13,000, 0002 13,000
ORE MNEULY AKX
10,000, 0002 10,000
=T N 600,000 0 600,000
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DA ARHSD
¥ NSEsS 2 AL (2L 22/H=)
el dMsgs K EEED
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 600,000 600,000
02 2B YA HE L 588,000 588,000
OFEWC K E1E X
588,000,000& 588,000
04 QIHHAIAIH 2 £ 12,000 0 12,000
Ol &8I 28Xz 12,000,000 12,000
NEESEIIR 2E 580,000 580,000 0
201 2= 16,800 16,800
01 At22t2lt] 9,600 9,600
Oogxz 9,600
-0 A MHEAHE Xt SRtz
800,000 1200 & 9,600
02 S3=gHl 7,200 7,200 0
OXtgrs el 7,200
-SEU S 600,000 * 1204 & 7,200
301 LELE NS 563,200 563,200
Riste - 2SFS2EYs 563,200 563,200
OOt &N =29 563,200,000 563,200
H=FAIE 2] 16,770,194 11,575,550 5,194,644
Jl 90,000
CH 1,200,000
= 456,000
o 15,024,194
SSHEAIE X & FH 1,294,135 1,617,860 N323,725
101 21AH| 26,999 24,916 2,083
04 JIZtN2Z2XNSE= 26,999 24,916 2,083
OO0l H=2l2t 2L 26,999
-JlZs 78,8803 x1H 247 19,484
-FERdIfsE 78,8803 x 1 »67 5,285
“AH=EE= 24,768,320« 2,230
201 fer= 3| 63,936 36,484 27,452
01 At 2|l 10,336 6.084 4,252
Oget=EH| 10,336
-Ol2M=2 2 1,548
Sl S| 99,0002 * 12 1,188
HAES S 7Y 72,0002 52 360
—SEHSAIE €X & 2l 4,788
SoIH| 29|
103,000 « 122 x304 2 3,708
HLES S 7
72,0003 52| *30H A 1,080
-SSHEAEE 0|18 EE=S HMH
2,000,000& 2,000
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2A:

S M=

M HsEs L A2 (2L 2E/MS)
=Rl MSsAlE 2 EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
-SSHMEANE 2R U=
2,000,000& 2,000
02 3324l 53,600 30,400 23,200
O3=23 £ HMAl 50,600
-0lgsz& S(AIZ, &8 &)
6,500,000& 6,500
-Hgsd2saE (g, &4+ S)
8,640,000& 8,640
S3MSAE 3223 (HI|, =% S)
35,460,000 35,460
O33HM=AIE =2l L FHul
3,000,000& 3,000
202 Ot 7,200 4,460 2,740
01 =WOdbI 7,200 4,460 2,740
OM=sAld2S2el 120,000 x5 * 123 7,200
401 A& B2 20HY| 1,072,000 1,547,000 A475,000
01 AlEHI 1,072,000 1,547,000 A475,000
OZ33MESAIE RAEx
120,000,000& 120,000
OFEet2E=ZE 0l &X
30,000,000 30,000
OS2HHSHOIEST YHTA L A4
eSfa] 30,000,000& 30,000
OILNEE 2l & I
20,000,000& 20,000
OAZXEOE A 01E WX
100,000,000& 100,000
OAZ=NOE 234 H2AE|
30,000,000 30,000
OAZ=0E HIQIAEICIS E=3At
22,000,000& 22,000
OXENE ArRa & 210 4X
30,000,000 30,000
OAZ=IT FHHHISA
200,000,000& 200,000
OZEdE A& 30,000,000& 30,000
OF32=2CF 2AI00 01 EH|
10,000,000 10,000
ONMFAIE HIItHEH AlA|
14,000,000& 14,000
OGXNZLHSHH =3 EH
100,000,000 100,000
OFEBUHIMSHH =Z &
50,000,000& 50,000
OBERY+ST Hitg+3A
22,000,000 22,000
OFEZUHF2 LS A
22,000,000& 22,000
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A S
M MsS2sS 2 Ad2e/(2SL22/HK)

Rl MSsAIE 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZIBEHLIAT AN&HA
50,000,000& 50,000
OHIZSE YABA 22,000,000 22,000
O8% 02 25717 &%
150,000,000 150,000
ORINHNTE S STHSAIL S|
20,000,000 20,000
405 KHaHF S| 124,000 5,000 119,000
01 ML ESFSHI 124,000 5,000 119,000
O3ZHSAIE M2Y &I 2
5,000,000 5,000
Ogtg g FY 7,000,000& 7,000
OAZ=MA =X U1 & oo 2Y
10,000,000& 10,000
OAZXNIE £7& 20 7Y
60,000,000 60,000
OEQMIAZTE TLIR0| 2
20,000,000& 20,000
OSSH=AIE AHs8E &2 7
2,000,000 = 11CH 22,000
2 SSHFAE 2 6,676,059 3,857,690 2,818,369
201 fer23| 20,000 0 20,000
03 A= I 20,000 0 20,000
OFGEUHIMSHE JH2t
10,000,000& 10,000
OEX=2UMSHE 2t
10,000,000 10,000
307 lztol & 185,000 185,000
02 2B YA HE X 185,000 185,000
OFEEUHINSIH 2208 23
185,000,000 185,000
403 AXIEHMSA=Z0l1d 6,471,059 3,857,690 2,613,369
02 S7I2S0 e H=E 2 E AL 6,471,059 3,857,690 2,613,369
OSSHEAIE SII2 A=Y
6,471,059,000& 6,471,059
NLHSAIE K2 (HEAIY) 1,520,000 210,000 1,310,000
S 456,000
= 1,064,000
401 Al HIZL 01| 1,520,000 210,000 1,310,000
= 456,000
[Ea 1,064,000
01 Al&H| 1,520,000 210,000 1,310,000
OHEUMSHH = WX
200,000,000& 200,000
s 60,000
s 140,000

—




2A:

S M=

M Hsgs Y Nd22(2eL22/HS)
&2l MSsAE 2l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OYNHS2Y 578 AZACI A
700,000,000 700,000
= 210,000
Ea 490,000
OFEAE=MT =FE A&
550,000,000 550,000
< 165,000
[Ea 385,000
OgRXIHLAE AlEHA 70,000,000 70,000
= 21,000
o 49,000
etngd=oy x4 1,900,000 2,200,000 300,000
CH 1,200,000
s 700,000
401 AIEHIZL SR 0HYI 1,900,000 2,200,000 300,000
CH 1,200,000
[Ea 700,000
01 Al&H| 1,900,000 2,200,000 A300,000
Ootgmas=sd x4 1,900,000,000& 1,900,000
CH 1,200,000
= 700,000
SR 1382 X4 1,500,000 200,000 1,300,000
401 A& HIX R0 1,500,000 200,000 1,300,000
01 AlZH| 1,500,000 200,000 1,300,000
OzR3 9208 x4
1,500,000,000& 1,500,000
SUBUMEStHE AE 800,000 0 800,000
401 AIEHIZ SR 0HYI 600,000 600,000
01 Al&HI 600,000 600,000
OEL=0I23MSHE AHE
600,000,000 600,000
405 AHaHE = 200,000 200,000
01 ML ESFSHI 200,000 200,000
OS4=22 MM =25 7
200,000,000 200,000
Q22 A2 &y 580,000 580,000
401 AIEHIZ SR THYI 580,000 580,000
01 AlZ8| 580,000 580,000
OZ0t RNl &2 Xd
280,000,000 280,000
Oy FEMSA &2 24
200,000,000& 200,000
OF= 28d 28kl &4
100,000,000 100,000
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od
i’
oF
uJ

-

KIO

Hlw

300,000

300,000

300,000

A1,244

2,200,000
2,200,000
2,200,000

240
240
2,100
2,100

N1,484
N1,484
316
600
600
600

MEE
Ofl &k2h

65,532

1,860
1,860

63,672
63,672
31,572
31,572
15,600
15,600
8,100
3,300
4,800
5,400
5,400

Ofl &F2H

90,000

210,000

300,000
300,000

Il

H

90,000

210,000

300,000

Il

rH

90,000

210,000

300,000
2,200,000

Il

H

64,288

2,200,000
2,200,000
2,200,000

2,100
2,100
2,100
2,100
2,100
62,188
62,188
31,888
31,888

10,300
21,588
16,200
16,200
13,200
3,000
8,100
3,300
3,300
4,800
4,800
6,000
5,400
4,200

1,200

- HyS

- SRA(E) - HIRAY

S - B

401 AIEHIYL 20

300,000,000&

01 AlIZHI

R
Kd

-

Al
Rl

=
o

2,200,000,000&

01 A=l

401 AIZHIY 20

]

OH

10,300,000
21,588,000
13,200,000
3,000,000
3,300,000
4,800,000&

175,000& x1H 122

01 AFR2t2ltl
01 =LA LI

202 044l

R0
0

ok
ol

Rl
Rr

350,000 123

100,000 « 122

.

KO

O

600

600




2A:

S

SR éﬂgzmxﬁl(%%iﬂ%’q ) (O1EHDIEL) N
Eel: Jl=2ZH(2Z S sk
MEE Hnp=2+
SA - HY - S9I(3) - HIRAY - BES ofl &ty Sl a0 k=]
OSgg 3| 600,000 600
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